H & 0l & AHS B Ml A

SN =NE
Ha: 2P
ol 2228 dUAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SXE M 24,208,730 23,516, 161 692,569
= 2,539,575
[ 266,910
= 3,506,860
Al 17,820,646
= 74,739
=t E 2 9,888,500 9,400,980 487,520
= 1,872,520
Al 8,015,980
SHEE HdAAY 9,888,500 9,400,980 487,520
== 1,872,520
Al 8,015,980
ARl =X 2SN 100,713 68,000 32,713
101 e124d| 32,713 0 32,713
M ORINZZ2NSE S 32,713 0 32,713
O#zydRA(RLY) 2,713
>olEs 2,305,270« 1H+ 122 27,664
D> AXt=g 11,0302 +BAI 2+ 1H* 11 9
PAYIZRaY 16,5453 #4 A1 2t 123 795
>=EH=SRY=S 29,428,040 *4 . 5% 1,325
PALEEZ 29,428,040 *3.545% 1,044
PAVRLEER 1,043,2302%12.81% 134
PUEEES 29,428,040 *1.75% 515
DAHESE = 29,428,040 0. %% 265
202 04| 30,000 30,000
04 =XI2t01H] 30,000 30,000
OgRs=egd m2ds
30,000,000& » 14 30,000
203 HR=AH] 38,000 38,000
03 A= PR F&IH| 38,000 38,000
OAIHFNE =AY
38,000,000 * 14! 38,000
22AE 2el2g 70,229 68,615 1,614
201 2= 34,863 31,569 3,294
01 At22t2lH] 4,663 3,969 694
OEsAlE 22| =324I
3,500,000& *14] 3,500
Oouzz28d R EX Sx=
1,163,0002 * 10 2 1,163
02 S3=gHl 30,200 27,600 2,600
OEEE 23ks= 600,000& * 122 7,200
OEE 2l S 24|
1,000,000 *14] 1,000
OEsAlE A2 22,000,000 » 14 22,000




2A:

mu: 2jpE
ol 2228 dUAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 13,440 15,120 21,680
01 2LHoIH 13,440 15,120 21,680
O=XIE L2ET0HH)
1,120,000 x 122 13,440
307 @120l & 21,926 21,926
05 212+ =S 21,926 21,926
OsEAE 22l2d 21,926,000 * 14! 21,926
SEEE2 23 67,192 66,217 975
307 212+01& 67,192 66,217 975
05 2ItRIE = 67,192 66,217 975
Osg=2ss& 23 67,192,000 * 14| 67,192
SEZEHN N 329,89%6 314,428 15,468
307 elztol & 329,8%6 309,428 20,468
02 2IZHBHAIHE & 55,786 54,484 1,302
Oz =234l S
55,786,000 *14] 55,786
03 PIAHHEYE 22X 274,110 252,444 21,666
OE&HH gd&24|
274,110,000 *x14] 274,110
S=Eg2 € 29 94,000 88,800 5,200
201 er2 3| 39,000 30,000 9,000
01 At2t2lt] 12,000 0 12,000
O=EtR(222e 2) M=
3,000& *4,000H 12,000
03 A= SHI 27,000 30,000 A3,000
Osisd =84 27,000,000 * 14 27,000
301 LEtE NS 55,000 58,800 A3,800
14 0Bt 2a s 55,000 58,800 23,800
Os=289 € =I)IE2U4T A=2E A
& 55,000,000 * 14| 55,000
6. 25. JIE &AL 11,800 12,000 A200
201 er23| 1,800 2,000 A200
03 A= SHI 1,800 2,000 A200
06. 25. JIS&HA} 1,800,000 %14 1,800
301 EtE2 N = 10,000 10,000
11 #AIAHIXIZ S 10,000 10,000
0O6. 25. JIgAL A+ &HIXIE
10,000,000& * 14! 10,000
SRS X2 25,000 25,000 0
< 5,000
Al 20,000
307 glztol & 25,000 25,000 0
= 5,000




SN =NED
Ha: 2P
el S=2EE JeAEY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 20,000
NEEEIEET 25,000 25,000 0
OSSN A=Y g
25,000,000 * 14! 25,000
== 5,000
Al 20,000
ZRASEMXE B2+ X 626,400 1,864,800 1,238,400
= 626,400
301 EetE2 NS 626,400 1,864,800 1,238,400
== 626,400
02 ARSI 2 XSG (FHAAHS, NLWE) 626,400 0 626,400
OLASLENAE HEH0LY
60,0002 «870H 122 626,400
=S 626,400
JESEENXE FHEU=E K& 1,188,000 0 1,183,000
= 1,188,000
301 22N = 1,188,000 0 1,183,000
< 1,188,000
02 A EEHS(FIANE, XLTHE) 1,188,000 0 1,183,000
OZESEM T FHU =& X2
60,000& *1,650F «12& 1,188,000
== 1,188,000
=Ot2EU A X2 7,294,000 6,844,000 450,000
301 EtE2 NS 7,294,000 6,844,000 450,000
02 A EEHS(FIANE, XLTHE) 7,284,000 0 7,284,000
OE=gl+< 7,236,000
PEsIu+E(22, 25)
150,000& +3,300EF « 12& 5,940,000
D> 2EF0l=S (HHRX)
100,000 020 * 122 1,104,000
PESIH=Z (222N
80,0002 x200H * 122 192,000
OAZRZ=2 200,000 x240H 48,000
14 JIEt2 8= 10,000 10,000 0
ORVIZEUMT FSE N(NYE, B=
) 10,000,000 » 14 10,000
&IH XHoH K+ X & 76,720 39,120 37,600
= 53,120
Al 23,600
301 EetE NS 36,720 39,120 2,400
== 33,120
Al 3,600
11 AALEIXIES 3,600 6,000 22,400




2A:

s 2op2Eoe)
el S=2EE JeAEY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O HIMHA =2H A X2
3,600,000 *14] 3,600
14 DBt 2 a3 33,120 33,120 0
OMIIEH I SEA 2at4EH| X
120,000 x23 122 33,120
== 33,120
307 el2to| & 30,000 0 30,000
= 15,000
Al 15,000
02 QB HANEEX 30,000 0 30,000
OZHAAAN =KX=l 2SN
30,000,000 *14! 30,000
& 15,000
Al 15,000
402 QI”F X201 & 10,000 0 10,000
= 5,000
Al 5,000
02 QIEN2ALEZ(0IETHR) 10,000 0 10,000
OFITBWHNE S BFANS S22
10,000,000& * 14 10,000
=S 5,000
Al 5,000
U=2208d 2 K& 4,550 0 4,550
307 lztol & 4,550 4,550
04 QIZIHAIAIRH 2 & 4,550 4,550
OPIZ5oHE 2R X
4,550,000 *14] 4,550
KNS AM2ISR JI8t2= 12,998,785 12,471,021 527,764
= 2,345,575
= 180,090
< 1,545,140
Al 8,853,241
= 74,739
=0l 25 2,000,731 1,976,797 23,934
= 174,000
= 1,042,200
Al 784,531
HAZH (=2 AIE) 160,000 180,000 /20,000
= 144,000
= 11,200
Al 4,800
307 elztol & 160,000 180,000 /20,000
= 144,000
< 11,200




2A:

SINESES I}

. NS AMeIFK] JER=
ol Lol 25 (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 4,800
11 AMEISXAEEXS 160,000 180,000 /20,000
OMHBOI (20l QUAIL)
160,000,000 * 14! 160,000
= 144,000
= 11,200
Al 4,800
C=0QAE 2EXA(HEAY) 1,010,000 1,006,000 4,000
== 1,010,000
307 elzto| & 1,010,000 1,006,000 4,000
= 1,010,000
10 Al2ISTIAIEEE 22X 1,010,000 1,006,000 4,000
OL=0QAAE 2R 1,010,000
DL=PIQefAlE 12|
913,500,000 * 14 913,500
= 913,500
DL=PIQAAL 2|
96,500,000 * 14 96,500
= 96,500
C=0RUAME JIsES 60,000 61,290 A1,290
= 30,000
s 21,000
Al 9,000
402 2I2F X201 & 60,000 30,000 30,000
= 30,000
= 21,000
Al 9,000
02 QI XHE AL E R (01X THE) 60,000 30,000 30,000
OUAIN=E JISE
60,000,000 * 14! 60,000
= 30,000
= 21,000
Al 9,000
=0 QAL 29 16,820 16,820
201 et 3| 11,120 11,120
01 At22t2l] 1,120 1,120
OL2QRAAIL UEL MAA S EHAS
g 70,0002 x4 #4353 1,120
2 s5=4g4l 10,000 10,000 0
OEF=NE ANE=E 7A2L
10,000,000& * 14 10,000
307 @20l & 5,700 5,700
05 212+ = 5,700 5,700




2A:

SINESES I}

M KGAEISK D825
= - (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OO0t & 5 SHedXt 0I5
95,0003 53|« 12& 5,700
L=0l AAESA 29 196,874 188,939 7,935
307 212+01™ 196,874 188,939 7,935
10 Al S XA EEHE2IHIE X 196,874 188,939 7,935
OO0l UALSA 2
196,874,000 * 14| 196,874
L0 TEAIE 29 557,037 523,748 33,289
307 2I2+01A 557,037 523,748 33,289
10 AISISXAIEHE2ZHIEX 557,037 523,748 33,289
OzLHEOASE 2
360,107,000 & 14! 360,107
OUANM=EE 22 196,930,000 * 14 196,930
=eH0IE=08l XI& 56,615 82,640 A26,025
= 1,575
& 14,460
Al 40,580
SE0IE=01 |F5Ee|elD] 6,840 10,840 24,000
201 et | 840 840 0
01 AR2teld| 840 840 0
O=80IZ50l NABS| BAaLe
70,0003 *6H *23| 840
307 QIZt01 A 6,000 10,000 24,000
11 AR SXAMEE R 6,000 10,000 24,000
O=sstolg==al |A=Ee|UelD]
6,000,000 * 14 6,000
Se01€=0 XF9g2ls 29 1,575 2,500 2925
= 1,575
301 LetEHZ 1,575 1,500 75
= 1,575
11 HAIAHIXI A2 1,575 1,500 75
O=e0IE=0AE U203 EIHA Al
K& 1,575,000 * 14! 1,575
= 1,575
Se01g=0 H=XIA 48,200 69,300 221,100
T 14,460
Al 33,740
307 2I2+01™ 48,200 69,300 A21,100
& 14,460
Al 33,740
11 AR SXAMEE R 48,200 69,300 A21,100
Ossolxel & XY U HANAS 3
s XA 48,200




2A:

E M

SINESES I}
KA S J1et2=

&t =80lg=2 X (SH &)
SA - ZE - B2(30) - HRAS of v G o HIDE2
>=gtolg==2l =t X3
36,300,000 x 14 36,300
= 10,890
Al 25,410
>SEI0IEED HANAS 2S X
11,900,000 * 14 11,900
< 3,570
Al 8,330
A= X8 X2 4,663,062 4,157,778 505,284
= 47,749
Al 4,615,313
ARISXIAIESAL SX+=2 & 170,520 170,520 0
= 34,104
Al 136,416
301 EetE2 NS 170,520 170,520 0
=S 34,104
Al 136,416
4 IIEe2d=s 170,520 170,520 0
OMEISXIAIE SAR SXI=SZ(=00A4
, SEARISX2) 170,520,000 14! 170,520
< 34,104
Al 136,416
ARISXIAIESAHL o228 XI& 21,530 21,460 70
= 10,765
Al 10,765
307 gl2to| & 21,530 21,460 70
=S 10,765
Al 10,765
06 28= 21,530 21,460 70
OAZISTIAIE SAHAF doli2d XI&
21,530,000 * 14| 21,530
< 10,765
Al 10,765
ANBIERRF 24 492,420 560,340 267,920
301 EtE N = 492,420 560,340 267,920
10 MSRREENS 492,420 560,340 A\67,920
OSAIZ0F ARISRRE 24 492,420
>S4 7,0003 x290x202 « 122 487,200
> atoEE Ol 18,0002 «290& 5,220
ANZERQE E(HEAY) 3,962,232 2,699,410 1,262,822
301 EtE NS 3,962,232 2,699,410 1,262,822
0 AR=R22as 3,962,232 2,699,410 1,262,822
OMEERRE Q12|
1,000,000 *300& * 12& 3,600,000




M SXE MY
2 NS A=A Jlgra=

SRl AlRISXIEE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONEI=Z22% DS
3,400 300 x22 x 12 269,280
OAsl==2R8 TI=t|
309,840 *300H 92,952
MNEISXI12 SAA MM =S 14,400 12,600 1,800
[ 2,880
Al 11,520
301 LEIE NS 14,400 12,600 1,800
= 2,880
Al 11,520
14 IIEt2d3 14,400 12,600 1,800
OARIS XD SAL M=
14,400,000 * 14} 14,400
= 2,880
Al 11,520
ARISRIAL S XML 1,960 0 1,960
201 2= 1,960 0 1,960
01 At22t2l] 1,960 0 1,960
OMBIZXIA SO HLHHSIRE Basg
70,0002 7 H*43] 1,960
KAA2| =X D18t LA 3,222,970 3,362,231 139,261
= 10,000
& 185,731
Al 2,982,500
= 74,739
AMEI=XE2e 2SAH 73,780 72,200 1,580
s 14,756
Al 59,024
307 212+01& 73,780 72,200 1,580
& 14,756
Al 59,024
10 AlRISTIAIEEE 22X 73,780 72,200 1,580
O AN =XE e 2EXH
73,780,000 x14] 73,780
= 14,756
Al 59,024
ARISXUEMH & M= X2 13,500 0 13,500
307 @I2t01 & 13,500 0 13,500
1 AMISXAIEEX 13,500 0 13,500
OAtZI=XIU=H & MU=
13,500,000 x 12l 13,500
A2l=XIUE 2S X 9,000 10,000 A1,000
307 glztol & 9,000 10,000 21,000
11 AMEISXAEEES 9,000 10,000 21,000




2A:

SINESES I}

3 NG AMeIFK JER=
=l XFARI=X J1gxd EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAtzI=AIUs 28X
9,000,000 *14! 9,000
Al AtISAHE 29 114,900 100,940 13,960
201 er=23y| 114,900 100,940 13,960
01 AtR2t2|HI 66,600 0 66,600
OsdJl 88849 100,000 ~12& 1,200
O&DI|&Hl HBEH 200,000 * 122 2,400
OAISISRIME Ald 22|84
59,200,000& » 14 59,200
ORMIBEAIE= I EHES
1,300,000& *23] 2,600
Oax=EY 100,000& «12& 1,200
2 S52g4l 48,300 100,940 A52,640
oNIIR3 1,300,000& «12& 15,600
Odotee=s 300,000& * 122 3,600
OAYZSHUNY U BRAYOIHF Y
600,000 23] 1,200
Ous=&2g=s 500,000 12 500
Oz20| HIEALLE
160,000& %12 160
OAZHI(ZAITFA) 1,500,000& 122 18,000
OELER-PS 500, 0002 23] 1,000
OFE(4HIAL) H2
600,0002 %12 600
OGPA 2Dl =2l 1,320,000 *2CH 2,640
OAld= RAl&el 5,000,000 14| 5,000
Ol RS AL 31,680 480 31,200
=S 15,600
Al 16,080
201 et 3| 480 480
02 s3=gHl 480 480
ONcis =Xt SSEHIAIAE SHR=
40,0003 * 122 480
401 Al HIZL 2018 31,200 0 31,200
= 15,600
Al 15,600
01 Al&H| 31,200 0 31,200
OZAIFHAIE SHHEXE ZX
31,200,000 *14] 31,200
=S 15,600
Al 15,600
KNSARI 2SN 2S 141,314 146,900 Ab,586
= 7,375
Al 59,200




2A:

SINESES I}

3 NG AMeIFK JER=
=l XFARI=X J1gxd EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 74,739
307 gl2tol & 141,314 146,900 A\b,586
=S 7,375
Al 59,200
= 74,739
10 Al SXAAEEHE2EHI2x 111,614 113,900 N2,286
ONENCELE I
111,614,000 *14] 111,614
=S 7,375
Al 29,500
= 74,739
11 AMEISXAIEEXS 29,700 33,000 A3,300
ONSAIBILEBOAN ABIEE AMEX
29,700,000 * 14! 29,700
FLolsdE 28X 60,000 81,500 21,500
[ 12,000
Al 48,000
307 glztol & 60,000 81,500 21,500
= 12,000
Al 48,000
10 Al SXAAEEHE 22X 60,000 81,500 A21,500
OFClisdy 28XH
60,000,000 * 14 60,000
< 12,000
Al 48,000
SEAEISX 2 2SR 2,337,537 2,302,918 34,619
[ 10,000
Al 2,327,537
307 elztol & 2,337,537 2,302,918 34,619
= 10,000
Al 2,327,537
05 2IMRIE =3 630,451 0 630,451
OZESEA2=A2 2SXE
630,451,000 x 14 630,451
10 AlISAAZEE 22X 1,643,886 2,234,918 A591,032
OsgAzEN2 28X 1,643,886
DIIEHSE AR S A2
576,334,000 x14] 576,334
D>EFSE At S A2
531,439,000 » 14 531,439
DEYSSHESE AR SA2
515,113,000& *14] 515,113
DOISEX2OISHEEAIEISA2)
21,000,000 *14{ 21,000
11 AMEISXAEEES 63,200 68,000 24,800




2A:

SINESES I}

3 NG AMeIFK JER=
el NSARISX Jlgtxd (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OEEA=A2 A g
20,000,000& » 14 20,000
= 10,000
Al 10,000
OAta|= X2 Ots2tela KId
27,000,000 * 14! 27,000
OO0ISSX2(OISHBE AR SAZ) X
16,200,000 * 14| 16,200
SEAMEIEX2 JIs2E 180,000 180,000 0
= 90,000
Al 90,000
402 2IZtA=01d 180,000 180,000 0
=S 90,000
Al 90,000
02 RIENEASEZ(0IETHR) 180,000 180,000 0
OZBABI=NR ISP 180,000
DOIEEBAE S X (Z2IBAEA,
LS AE &) 0,000,000 14| 50,000
= 25,000
Al 25,000
DHESEARSX2H(XSII2t ¥ HH2t
H) 50,000,000& »14! 50,000
== 25,000
Al 25,000
DRAFEEENB(IEAR BA L Ags
vl S) 80,000,000 * 14 80,000
= 40,000
Al 40,000
A=ISSHE Al 3,240 3,240
201 er=23y| 3,240 3,240
01 AtR2t2|HI 3,240 3,240
OAtlSEE Al =St
400,000 ~6 K 2,400
OAl2I S8 E At?de E4g
70,0002 x6H #23] 840
ARl =Rl SNSS /A3E 13,500 15,000 21,500
307 elztol & 13,500 15,000 21,500
04 CIZHHAMAMH 2 & 13,500 15,000 1,500
OAtzlSAIel SIS |35
13,500,000 x 14 13,500
UNE=E==PNPA [ B 5,760 8,640 2,880
202 04| 5,760 8,640 A2,880
01 =LHOLI 5,760 8,640 22,880
OXE=I g2=80i|
480,000 123 5,760




S SXEBD

3 NG AMeIFK JER=
=l ASARISA Jletxy EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
3|Y=X 12,680 13,640 A960
201 er23 | 5,000 5,000 0
01 At2teltl 5,000 5,000 0
OSXAEEA =X +=E4|
5,000,000& 14 5,000
202 04| 7,680 8,640 A960
01 2L AL 7,680 8,640 A960
OBI2=N YSEHOH|
640,000 * 122 7,680
S|YSHME 29 75,825 77,000 AT1,175
307 lztol & 75,825 77,000 AT1,175
11 AMEISXAEEE 75,825 0 75,825
Os|e=Sehule] 29 75,825,000& x14] 75,825
KNS A2l SgE=s4EH 22 130,254 149,773 219,519
307 elzto| & 130,254 130,254 0
05 212t =S 130,254 130,254 0
OXgAtzlSe=s0H 29
130,253,410 x 14 130,254
OSA 0 & 22| AlEA 20,000 0 20,000
= 10,000
= 6,000
Al 4,000
307 @120l & 20,000 0 20,000
= 10,000
= 6,000
Al 4,000
11 AMEISXAIEEXS 20,000 0 20,000
OL=A 282 NE 20,000,000 * 14 20,000
= 10,000
= 6,000
Al 4,000
NASHAAS K& 3,085,407 2,853,800 201,607
= 2,160,000
= 180,090
=S 285,000
Al 430,317
HAE2s X 36,700 40,700 4,000
201 er=3| 700 700 0
01 At22t2l] 700 700 0
OTA2s 2g%923 d4+g
70,0003 x5 *22] 700
307 elzto| & 36,000 40,000 24,000
1 AMEISXAEEXS 36,000 40,000 24,000




2A:
PSR
ool

SINESES I}
KA S J1et2=

MASHAAS N

SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONOANZE)| BNES
36,000,000 *14] 36,000
2Z8=A A& 2,700,000 2,489,000 211,000
= 2,160,000
= 270,000
Al 270,000
301 EtE N = 2,700,000 2,489,000 211,000
= 2,160,000
[ 270,000
Al 270,000
01 A2 EH 2GS (RNEETHE) 2,700,000 2,489,000 211,000
O2=E=Al X2 2,700,000,000& *14] 2,700,000
= 2,160,000
== 270,000
Al 270,000
e 2=EXE 30,000 40,000 10,000
= 15,000
Al 15,000
301 EtE N = 30,000 40,000 10,000
= 15,000
Al 15,000
02 ANRI2HASFS(HAAS, XNLHE) 30,000 40,000 10,000
Ot 28 X3 30,000,000 x14] 30,000
=S 15,000
Al 15,000
ERAS X 22,250 22,500 A250
201 =3 2,250 2,500 A250
03 A2 I 2,250 2,500 A250
O3 Lisdue =8
2,250,000 14 2,250
301 EtE N = 20,000 20,000 0
02 A2 X LGS (FHAAHS, NLWE) 20,000 0 20,000
OSRHUEB(MAS 2R3 H) A=2E 7L
20,000,000 *14] 20,000
Al-2 - 7 SEAd2E K& 15,000 15,000 0
[ 7,500
Al 7,500
201 2egh=3| 7,500 7,500 0
= 3,750
Al 3,750
01 At2teltl 7,500 7,500 0
O3 L= SEAd 2 2E+=SH|
7,500,000 *14] 7,500
= 3,750




2A:

SINESES I}

3 NG AMeIFK] JER=
o MASFHAAS X2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 3,750
301 LEtE NS 7,500 7,500 0
[ 3,750
Al 3,750
01 AR 2EHSHS(RNEXRTHE) 7,500 7,500 0
OSIY=RNAE SeAR2el X2
7,500,000 * 14 7,500
= 3,750
Al 3,750
SHS XEE SEAHA NEH 246,557 246,600 N3
[ 172,590
Al 73,967
201 fer=3| 98,623 123,300 NP4, 677
[ 69,036
Al 29,587
01 At22t2lt] 98,623 123,300 N24,677
OSHs SEAd 2 28-S
98,623,000 * 14| 98,623
s 69,036
Al 29,587
301 LEtE N = 147,934 123,300 24,634
[ 103,554
Al 44,380
01 Al EE A S(FRDEXA) 147,934 123,300 24,634
Osts SEAtd2el X
147,934,000 * 14! 147,934
[ 103,554
Al 44,380
JIF=23 gdat 4,900 0 4,900
201 LBt 4,900 4,900
01 AR 22/ 4,900 4,900
OJIRestE LRIt BLLY
70,0002 x5 *43] 1,400
OJIFX4 getdd 28 822 A
7,000 *500H 3,500
ey g A = 806,890 1,150,560 A343,670
= 194,000
< 89,200
Al 523,690
=4 X 75,000 77,000 22,000
= 6,000
Al 69,000
AFotoldls 3ASE NE 45,000 45,000 0
301 EtE N = 45,000 45,000




S SXEBD

M oNEM Y HANM =7
ol NEL X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 45,000 0 45,000
Od=00gdis Fofsd X
50,0003 +900 45,000
ABHOF Ol&r Xt stdl X1 30,000 32,000 /2,000
=S 6,000
Al 24,000
301 LEtE NS 30,000 32,000 /2,000
== 6.000
Al 24,000
02 AL 2EH LGS (HAAS, W) 30,000 0 30,000
olsrs==s N2 30,000,000 *14{ 30,000
& 6,000
Al 24,000
ey 93,040 119,900 N26,860
H=F0t OLHHI0! 30,000 30,000 0
307 el2to| & 30,000 30,000 0
12 QRIS W= 30,000 30,000 0
O#= =0t OF2t4I0I 30,000,000 x14] 30,000
QIR oY A =& 63,040 89,900 A\26,860
201 et 3| 46,120 81,260 A35,140
01 At2t2l] 46,120 81,260 235,140
OsMddds 828 X
45,000,000& *14] 45,000
ORI XA HHH
70,0002 x8H #2353 1,120
202 048l 1,920 8,640 26,720
01 2L AL 1,920 8,640 26,720
Oel8 3 gRFH0i|
160,000& «12& 1,920
308 XtXIEMSO0IH 15,000 15,000
13 S [2S0tHet 4 A AS A 15,000 15,000
oelds & 15,000,000 * 14| 15,000
FEX3ME 2Y 141,810 203,200 261,390
FEFYgEs KN 58,200 39,600 18,600
301 EtE N = 58,200 39,600 18,600
14 DBt 2 a=S 58,200 39,600 18,600
oudEdy N 38,0002 x50 *33] 5,700
OogggsHl XN&E 50,0002 %150 7,500
OF ULl HAEs S MgsSAlz X
50,0003 x300H 15,000
OLHLPHH SAY 0182
100,000 *300& 30,000
FHEES N2 46,710 28,700 18,010
201 fet= 3| 25,830 28,700 A2,870




A SAE M
M AW U HANM X7
el B3EXEAEH 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 #AL2 | 25,830 28,700 72,870
OBAZHYESD 2
25,830,000 x 14 25,830
301 EtE2 NS 20,880 20,880
14 0Bt 243 20,880 20,880
OHEEBYESAT BIARA ST
30,0002 x58H x 12& 20,880
HFEAHN=UE K& 2,400 24,900 A22,500
301 2PEN=S 2,400 16,400 14,000
14 JIEt2 8= 2,400 16,400 14,000
Oxd SolrIZE N
50,0002 x4E! 122 2,400
dHgs N2 8,000 0 8,000
301 LEtE N = 8,000 8,000
14 DBt 2 a3 8,000 8,000
Oo3d 225 1gHl X&
400,000 x20& 8,000
ddu=s X& 8,500 0 8,500
201 2= 8,500 8,500
01 AtR2t2lt] 8,500 8,500
OFdE MEHIAW= 8,500,000 * 14 8,500
A=K 18,000 20,000 22,000
201 Ler23| 18,000 20,000 22,000
03 A= I 18,000 20,000 /2,000
OFH=N| 18,000,000 » 14 18,000
A 497,040 750,460 A253,420
= 194,000
= 83,200
Al 219,840
3 HNESsS gEt2s 258 XN 150,000 0 150,000
= 75,000
== 22,500
Al 52,500
301 EtE NS 150,000 0 150,000
= 75,000
== 22,500
Al 52,500
01 ARSI 2E AL S(SREXMH) 150,000 0 150,000
O3d HNES= eg&t2s 288 X
300,000 *500& 150,000
= 75,000
== 22,500
Al 52,500




A SXNEH
M AW U HANM =7
chel: EEE (Shol: &2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
UM Al EEXA 238,000 653,200 415,200
= 119,000
== 35,700
Al 83,300
301 2eEN= 238,000 653,200 415,200
= 119,000
=S 35,700
Al 83,300
01 Al EEHS(FRDEXMH) 238,000 653,200 A415,200
OFIEAN BtAl SEXH
238,000,000& *14] 238,000
= 119,000
= 35,700
Al 83,300
g 3¢ wsdl X& 20,100 36,000 15,900
301 2= 20,100 36,000 15,900
14 JIEt2d = 20,100 36,000 215,900
Odg &4 usHl X
20,100,000 * 14| 20,100
I OpY 88,940 61,260 27,680
= 25,000
Al 63,940
201 er2&y| 21,260 11,260 10,000
01 AtR2t2|HI 21,260 11,260 10,000
OFEEH S22 M
20,000,000 *14! 20,000
OHEEM S HHLS
70,000 x9 & *22] 1,260
202 04l 7,680 7,680
01 =LHA LI 7,680 7,680
OHETH ADEAHY)
640,000 x 122 7,680
308 AtXIEMSOIE 10,000 10,000
183 SIS U B 4 HASAIE 10,000 10,000
OFHEY 8= 10,000,000& * 14! 10,000
402 BIZtAH=01H 50,000 50,000 0
& 25,000
Al 25,000
03 2IZH2AETAI I 50,000 50,000 0
O&dEcIH OF2tdl0] 50,000,000& » 14 50,000
= 25,000
Al 25,000
Hegs(SXd) 220,000 200,000 20,000
WEHAHRZ(SXE L) 220,000 200,000 20,000




2A:

SINESES I}

¥ HeS(SANEHY)

ol LIS HHXIS (2N 2) GRS
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CHAHEAOHE &= Al2E 28 220,000 200,000 20,000

701 JIEtRI HSHES 220,000 200,000 20,000
02 2IIHEEIHINEES 220,000 200,000 20,000
Od= A SENH H&E3 220,000
DORHAINE ASER3 20 22
220,000,000 *14] 220,000
AH2LIH(SAFHD) 294,555 293,600 955
= 86,820
Al 207,735
Ol AHI(SXIF M) 234,763 231,408 3,3%
= 86,820
Al 147,943
IS 2HHI(SXE ) 61,123 62,028 A905
101 212A4H| 61,123 62,028 A905
01 2= 61,123 60, 102 1,021
OAlt222+E
11,3192 %18 x300A1 2+ 61,123
QA2 S| (SE A2 EIAL 173,640 169,380 4,260
s 86,820
Al 86,820
101 @124H| 173,640 169,380 4,260
= 86,820
Al 86,820
03 SRA(RIH )22 U2+ 173,640 169,380 4,260
OSE At Z2IAL e1218]
2,894,000 « 122 +5& 173,640
[ 86,820
Al 86,820
JlE2ZdsI(SXE ) 59,792 62,192 A2,400
JlE2ZHI(SXE ) 59,792 62,192 22,400
201 er23 | 44,392 44,392 0
01 At2teltl 38,830 38,830 0
ORAME2Y AtR2elH]
38,830,000& x 14 38,830
02 S3=gHl 5,562 5,562 0
ORANEY s5=29Hl
5,562,000 * 14 5,562
202 04| 4,000 4,000
01 =LHO LI 4,000 4,000
O=XE& 2204 4,000,000 * 14 4,000
203 HR=H] 7,500 7,500
01 V22 HRFa| 3,300 3,300
Oo=A=& 3,300,000& %1 3,300




SH: =XRH
M HY2 A (SXZHD
PSS

SoT oo

chel: J=2Zu(SXE2D

(Sl &&)
2 - IE
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
M A2 4,200 4,200 0
O25% 0lat 350,000& 123 4,200
405 XHeHE S| 3,900 6,300 A2,400
01 IR =EFSHI 3,900 6,300 A2,400
OPC(2Xl) 1,300,000 *3CH 3,900




